a)w‘ﬁmm cﬁmye st budioy

i Ltma;r; cb\mae dewa; by T
!—K‘ﬁ—‘\ T i"?) ‘E(np)z S Atw =
x=o. dci‘,tx) R L 2 L

kdgx) k Ay d x

_ dq.(x) = _— A b XX

AR= == 3 u.‘,-mf‘ So T

L -;Sgh(x‘.-x)

5§ Rdq KAdx_
20 Sur daee charg-e du»;'.%:‘ Ve S o (&R }, )

20 Noluwie ke c‘"‘”&Q dansi by 2
d4q (R} = QYY) dkjdyyda-

CINERE S
SR = Ax dy 4%




Umi@ot‘wa,\bs — dm&eeb
Y aE
// 2
v &

\

\
Top View

Q Jt‘,s xal
&

r'ma

Uhigwm\j

c\mxaed

R
E%A‘\Sc = \h

3
-
L

(]

R— oo

wmivite P\dh.e

sy

\ — —
= ke ( 3 - ra"-l-R") = Wék[‘ E}"*Rt

r gy

(Oetaled  dreat wroust VY
pPrevious wotes ) kzdq

<ed \ =1
N own 3 CAE% (%1* R“)’ la
k234
E.R®) = g akty - —_— =
¢ (2) 28 (2 Rk
N ke S . k2 Q fing
T (R T (R )a

kdq kQ Png
av = =V =
ST > V(2) ’i%‘# R
disc

&C““Wa = &- 2ny¢ dvr

k2
—_— a . -
(2heYh & "4

k& rz dv
(2 p?)*2
[onk&z] rév

(2>~ )72

=

R
. =

- arkte [-@=l)

3

Eplave = 274k



E Ie_gﬁr:cf Po{em‘ia«/ o a dice
T kdg————kr2F & dr
Ve R
» Ark-E—pPdv R
V= — = gmké 2% | =
5 ""f?“‘f r< [ )

=
-

nké _(‘-Jz%gz - [21)

Here iF s a  [dtfe droclejer
_afu wp {‘0 HHee @Kpr.eayo“ q%f’“ qﬁfLQ r"uﬁm‘{g
Plawe Sines Voo a3 R— oo
Here we have do  hewomber  tha it
Du A flerence i po teudial eueryy
_. maﬁ&ﬂ So we caiu g-'_'gf IV'=a QJ—V auy
conveunieat focadiown ¢
— B2
V= Jmké (2%R>-2)) ~— drkd(RAz) + Vo)
Les  sed V=0 a2t 2=0 => U, --InkdR
Then V= ~mké|Z| = - 32 25 - £ 2]




